HSC 2010 - Information Processes and Technology
=i Band 5/6 - Sample 2
Question 23

" Start here for

- Question Number: 23
Ch Tg)_ﬁ\ﬁ U&\lﬁh\\ﬂ*\ \'ﬁ\ﬂh\quﬂ‘i 1\0&1 w LlSﬂ) }1‘3 Lensiayc
Aak s h«qﬂwﬂ w r:"wrﬂ:}’ %waY and accelly, This

I -‘n‘ﬁh}a\'_; m\&}’ M« Aa)& U\)-tqﬁh \3 ES }(\*"Jﬂ-s}’ “fc.sﬁ Hi.

Cl‘-m\'u)"'\ Pw W{‘\pm *"‘Xﬂ'm'DLL Lﬁc-ﬁﬁ’“ ha APU? C’lﬂ?“-‘“
rENURS (,;\/"\{)\ MR\"L SUye  USey pnﬂg\k ,«{a}q ™ fn_L FG—M:)’

Sorpa} S

‘h\ Caw\;cs-n Y-qc%pm} (m\iu:)‘q\!?( \\ﬁwh uged e screen 2lerrendd
i (Qewshon 3 st T B A% .-.:U(,-c-; [ﬂu (5er” f-:-faac“}j:lc. -
heates T wmahe . Vhese aoe sk }ZMGA }’ | ke r:wlm\ b Bons
Lk e3Fer o Sge(&‘t e e Do sl phises

AT %‘m«q W S\22 o G\QVM b WJ cach USer
WUS have q B b < L) m‘}wfmyt}amm sj: d’a} is _
ronsidned oY o lmq %1}\ t:}cfn';-m%a -s?ccﬁlcd Selec han|
OV s od e upe *hk’?*&ﬁ%ﬁ apd }Mfrzﬁ -N%ﬂ L comepnd
Ve r]-f:)um\ o Tin q:mvlk o chaose Saml lq H\E.hm)ﬁrﬁ' il
)meuq ot k. ns‘u. i nhwl}mﬂ fh {Q'rff’@i N
afu«-{mhuu 4

A AT ?mz\
o 2L A W Ca ){}nge,@} gyﬁ@(gof/{i:d\)ﬂfj

~alosug” M o E}@\H/%/@ﬁw\/\’(@%&/m& h
m—‘-w’ {aéxzm F@,’me“}/}iﬁf\g\ 5-"‘/ m’l}yliﬂ/ urdvmgﬁ'r T
}\ﬁ )b M\L\ ‘4%5 \*D/ Ac(mmf e e TH AN




HSC 2010 - Information Processes and Technology

i Band 5/6 - Sample 2
Question 23
gﬁTE el 5 P f_’,/’.j -
ij_(;w’_f: - - r 5 =
| hg 2 Fal ;
s = o =
;’/.f }
8 s ¥ M oo e
. }kmzﬂﬁ Vo ,\5'5,1\ o | Fou
ol " . — | .
-"'\.'?', - & 1 \—
23 | R =T =
o X | ; 0
. ) | i< _ <) ! e
< + I 8 o -
8 “hr" P ﬁup \I&.ur i : e :
mx Emusioen ” fl.u:}ﬂi;w. Criion. J i?( Wﬁ-f-"\-
50\"‘}‘“" > _' C LL)’ OQU..-:.V\ u.mﬂ/ Cm’}u\ ﬁy:ﬁ'w‘y
i | 2 = . _,,'_-”'f'# //’/f
TR =i .’.".F.-"' f’_/-
."J-f

a\ i Bk Fm@mv o tad wesh e b s

(‘\WN» & d:{)&lﬂ‘x (rmﬁﬂ\* _ mguwxu}'\m—'\jﬂ ﬁ-k C{U“wqm,& {m&\

bhnbars Corer Toashrind, s vsold Sroie amperbi

Mo e o '\\*W)j‘% which cone Y pwerd 5:1*

Wy I s sl okl vikns mue Do Do bl |

aslliched 35 venhed md Ammad o }h NS

Additional writing space on back page.

Office Use Only - Do NOT write anything, or meake any marks below this line.
2792110091
129927 15210 637 23 e




HSC 2010 - Information Processes and Technology
Band 5/6 - Sample 2
-3- Question 23

sl

'BO:"L To fq"(u'la'lﬁc-’) \ Trmr Resulls
i
E _ Tt e —
3 = 3
e o
23 :
'kuj 5
i
H-ﬁﬁc'h;;:lc\'k R ’Tmn-s T wﬂi :‘::I:MTET"E::TV‘M}
Tok o)
L2 PQM?A. s
5 \ \ _ _
N@bﬁ /ﬁu Cawnn ujw OPAISS IS

Thys ﬂ-xah\ﬂzi \}\a«; v addihownal '.w*m Lw‘aiwl 2 ﬁo)eu"\ E’:.w

ﬂgm& u\'ﬂil\ is {a\mlmLA ]m\ cec)ulm.j )/L Tkawapcr} {.m_J

|-);Cm“>tl\ﬁﬂl i‘b}ﬁl‘i Ve L,:.QU QUW ﬁ\k Ugev™ Lz, E 24 hews }’]"11.1

’CM(M}'& }1' nu ahtvﬂq{_ /ﬁtshaghalr’“ Uuﬂ;_(w.ﬁ\ 1““5 mﬁrsifj\

u:)\r;wa E«:.HK}\ Ln;qu m‘h\\ L Lieve . J;*{Nl' mu}{_’ jm’:‘} AT

-(.f_.dum JLur 2radHion

You may ask for an extra Writing Booklet if you need more space to answer question 23.






